METU - NCC

Precalculus
Final i

Code : Math 100 Last Name:
Acad.Year: 2013-201} Name : ’Q/ Student No.:
Semester : Spring Department:\é- Section:
Date :4.6.201/ Signature:
Time 2 9:00 10 QUESTIONS ON 4 PAGES
Duration : 100 minutes TOTAL 100 POINTS
T ®2 agp ¢ @5 o6 adr  dF  adp Qg (12) || m

1. (8 pts) Write the equations of the following lines through the point (5,7).

(a) Whose slope is 2.
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(b) Whose x-intercept is 2.
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2. (10 pts) Solve each equation.
(a) 47 — 2741 = 8
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3. (8 pts) Sketch the graph of f(z) = Acos(Bzx + C) for —5 < x < 5 where the period of
function f(x) is 4, amplitude is 3 and it passes through the point (—1,0).

4. (8 pts) Find the following values.

(a) cos(G%T) = (Cos (%‘“) tan(613—277) — fon (%}
=0 = A
(b) sin(—225°) = = Sw 4S° cot(—225°) = (ot 45°
= - E = A_
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5. (10 pts) Compute the following values by using related trigonometric formulas.

(a) cos(—1425") = Cos (- 2%?) = Cos(229)
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(b) tan(165°) = —4an 1S’
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6. (12 pts) Solve the following trigonometric equation:

l—sin2z 1 —tanx
cos2z  l+tanz
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7. (12 pts) If cosx = a then use basic trigonometric identities to write cos4x in terms of a.

¥

Co: Q (Costx-\ = Qal- \

2% =

L

: 2
(o5 4 X = 2 Coslax) -\ = 2 (2et-\) =\



8. (10 pts) Find tany if we know that tanz = 3 and tan(z + y) ~ 33

Yan (x*j) = Yonxttony = 22 = Sy rony
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9. (10 pts) Determine whether the following triangles are possible or impossible by using

law of sine and/or law of cosine.
(a) Sides of the triangle ABC: a =8, b= 11, ¢ = 13 and angle: A = 100°
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(b) Sides of the triangle ABC": a =5, b = 10 and angles: A=30°, B=00°
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10. (12 pts) Solve the following trigonometric equation for z € [0, 27]:

sin(z) + cos(z) =

Bj Jcok\uj SQuore 0,9 boltn  slcles

Sy 4 Conlx + 250 Coox = A

—
A

= 2%nxleex = O

Chee e o\ wolahons |

Exelo de 35-\5 and T




